[‘“,3\.“«:' g,\:guimj

dccedi aglatlg Lom ol g

(A da ¥ Aalily)
aliw! ZA g
(((;)) Es}ﬂ:d‘)







daga Cilalas
Ve (£0) Glaiad) dud_S Aliad s -
Aadia (YA) glaia¥) dul S cladoa dae -
(il gise g8 (latia¥) A S Ciladia dae (e g ALY a5 e ST -
(teba EM) laaY) (e -
Ao (1) JLasdU s Al -
D Agliny clagladl oda 181 |, il (6 5
ALY e Canl Wign g ALY dadie f GlatieV) Al S dadie b gl gus 1 cilagletll 1
Al el U o 4 S5 i Jisedl 158
J3m g8 (o it Baal g Al LaY) qusthall g ¢ gzl day e ALid) ¢
S e oot e g ecilagas ) (8 alia Al 5 ¢ Aladl G Y Calad) A s
alad dalal Al s Lol Laiadia) dal ) 8 Caal i) Al U elils) xie
Go S elia) o 5 ¢ Ll 3G pe 83 gusall Claviia 3 aY) JLSi ) (S g A
L8 5 oy 8 g Ala)
1 Jlia

.48 (B) 4 (A) oo el 4 aa) e ) ce clida) ve
rda g ) e e JLEAY) Al oo dlifla) aie

) e JST DS SIS Gamall BaY) e JIall e 0 3 s jial Jiks
Sia (C) Aayanall LlaY) ;e

: dasaiall Aay)

®OeE

s LAYt Asaia ddla) Cual g QI cudd o el Ala) cual 1Y Lo dlls 8-
Lot ALY ot Ut A8l Qe cudd ¢ A Ala) 1Y L lls -
p A3 gale
gl ey o S8 A U a5 1Y) (ddaia (e JLEAY) A gida gall ALY Al
Ll ey e ¢ LlaY) ) S

J

wwyjailledg o



Answer the following Questions: P AGY AW e co

A 4
1. Answer one the following (A) or (B): 1 (@) 91 (1) 1 3aadt s yi3nt - )
Write the scientific term: 1ol JIA alall mllamelt LIS
(A) The zone which forms more than 80% | o= #A+ i =81 Jey 231 Ll -
of the volume of Earth’s rocks. f 02)¥ sso
(B) Internationally recognized and all Gy Ldp arle Bl Siwall o
heights of different topographical ralpadialeladlatl o
features are attributed to it. Adlinall3é gkl
D
2. Answer one the following (A) or (B): 1 (20) 91 (1) 1 uadt s yisnd =¥
Choose the correct answer: 1 JaGd Aovouall Ayl N1 s
(A) The lustre of feldspar mineral is ...... | - 4% 53 Ol Hbasadall Gns Sy |

(@) Glassy ot (D
(b) Pearly sy (©
(©) Metallic we O
(@ Earthy w5 (O

(B) The rose colour of quartz is due to ...... s SIS Dunat (298 09l (50—

@ breaking down of some atomic bonds — s,slic 13 (o dastg 3 paas yus @
between its elements.

(b) presence of large numbers of air R N )
bubbles.

(c) the presence of manganese impurities. el e iz ssny ()

(d) the presence of iron oxide impurities. ol S n itpt a2y (3)
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3- Answer one the following (A) or (B): 1 () 9f (1) ottt 3t A st ¥
Justify: | PY PR
(A) Laccoliths causing Anticline fold. o S el dione B (95 |
(B) The mineral composition of andesite | <R sal doasell Slssell -0

cannot be seen by naked eye. Bapmall (el Lt (S ¥
A 4

4- «There is a close relation between Ay LAY (s BB 9 A3 De s g5y -

marine upword currents and fish GUBL L Saud | LN 15,859 5o liatl

production» Discuss.

v

5- Mention the importance of organic 1 )S31 -0
fertilizers: o gunal| e diaa
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6- Compare between:

Horizon (A) and Horizon (B) in mature soil.

1o QOB -1
Aol A i 3 (o) @liaig (1) Bllas

Horizon (A) (1) gl

Horizon (B) (v) @lks

A 4

7- Study the given figure and answer the following:

a. What is the type of tectonic movement?

1o el @ Elalel (AT IS (yuyd) -V
os ol x o)

$20 IS 38 ol 5 Lo < ¥

b. What are the results of the difference in
density between continental plate and

oceanic plate?

M e A el | kit Le s Lol
cj_U‘jéJLEJ‘Cj_Ulo_ﬁM\iSJ‘

§ ol

c. Give example.

e ,Sal LI

Q
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8- Justify the following: 1A Lt Jle -A
A cubic crystal system characterizing the | . asaniata Sy caigh oses gt
halite mineral.

A 4
9- Write briefly on the following: 1ol Les ylalis by IS -4
a- Biosphere. NPV ITECVITIRN
b- Ecosystem. RPN (FNUSUR
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10-Answer one the following (A) or (B): 1@ (20) 91 (1) oV 3t i 3t =Y o
Write the scientific term: 1ol 1AM elall mllaael| LS|
(A) The percentage of pores, cracks and | @sacidly plueld i siat) it -]

spaces between the rocks and grains. | »al! 51 sag2gedl aleiyally
(B) An elongate ridge of deposit at sea Sl g
area due to meeting of two streams | o HB Ol Gl des o

. . . . . Cus v Lo | 3
are moving in opposite direction. G AT
LagSISin  dad 8 Jlo y3 o 55

.
11- Choose the correct answer: daB Asuemiall Aala ¥yl -\ |
Which of the following is true? : eoue AG L O ylatt (o s
(@) Fluorite scratches gypsum ! i capstatt (1)
() Talc scratches calcite eratlS sttt ()
@ Calcite scratches fluorite iy olal | b Cod S @
(d) Talc scratches Fluorite o yptatt sttt (3)
4
12- What would happen if ......... s e Gt 13le -\ ¥
The graphite mineral is broken down or Saule daiiall of cudl yod| s puS

subjected to pressure.
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13-Write briefly on the following: 138 B pualine BILG CGS) -\ ¥
The bad effect of generalization of B 9 Sle )3 ol et LY
planting a single crop in the same soil. J gl
D 4
14- Mention the mode of adaptation of the 1S3 =\ £
herbivorous desert mammals with their | st Slaidianss yaltas
environment. g e ddial)
v
15-Justify the following: Hhlet Je -0
Both granite and obsidian have different | ce=b=dtedasio ez,
mode of formation, but they are Legal 1 3LAI i (o Oty ¥ 1y
considered as two equivalent rocks. e
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16-Answer one the following (A) or (B):
Compare between:

(A) Solving the problem of eroding
agricultural land and solving the
problem of spreading urbanization.

(B) The renewable and non-renewable
resources (concerning: definition —
examples)

103 (@) 91 (1) o1 guadt i 3500 A
1O 3
e\ )31 G, et e il -
L peadl a3 2 Me Slug g
e 39— Tlg Badamiatl 3yl -0
aliel — cay yaild ) o (ye B3ciel!
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17- “Some economic deposits were recorded

in Bedaa and Thora area south west Sinai”.

a. What is the name of these economic
deposits? At which geologic period
they were formed?

b. Mention the environmental conditions
which responsible for the formation of
such deposits.

Aakaie 9 sglal s laidl cwl gy -\ Y
cos bt 0 )8 Qg B 15909 Aady
riae 51 By cauly N oirs wul La ¥
§0 ¢85
OR9S3 1 Gl G g ylalt e sLols
Scewlg Il oia

v

18- Justify the following:
Coastal areas which are characterized by
heat stability more than the tropical areas
far away from the seas.

DFiely adalalt bl mad -\A
(e Buad ! a,lal Boliadl (e gy
e
Bylalt ol yud
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19- Answer one the following (A) or (B): 13 () 91 (1) o1 dt A 30 =14
Mention one example for geologic 88 3und| ST WL 583
structures characterizing: 1 392 5l
(A) The area of constructing temples and | cle.at julaey ules sl Glolis -

tombs of the ancient Egyptians. O el
(B) Hammam Faraoun on the eastern side | _s, a1 gatutt ote 5e 52 ales -
of the Suez Gulf. ” o g el
4

20- Answer one the following (A) or (B): 1@ () of (1) otV uadt i et -
What would happen if......... s e G 130e
(A) The disparity of river branches in Sl o LA ygitt 31 s i

CTONE. dilaie )8 Aadl) duid s OIS yor rgus —0
(B) Tectonic movement takes place near il i
the upstream area of the river stream.
A 4
21- Write the scientific term: 1 dadd alall pllaael) S| - Y
A geologic period at which the continents | Lacila tian si sgtsia s
were achieved their present position. A Lge Ll
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22- Choose the correct answer:
The following deserts consumer are
considered as carnivorous organisms

@ Snakes.

()  Beetles.

(©) Fennec fox.

@
v

Carnivorous birds.

23- Answer one the following (A) or (B):

Justify the following:

(A) The length of the day time is an
important factor in triggering
migration of birds.

(B) It is impossible to endure without
the diving equipments to very deep
marine water.

1dadd Aovonall Aol Wyl =YY
2

ASUguwad | SLSISY Aliel (po b Les JS
.......... fie Lo £yl | 8 p gomld 1 US|

Oalaidd

N EPA P gon-WEN §

LAt (e

A ld !y audaltd

O®OO

13 (@) 91 (1) a3l ) s § pn) =YY

rily Lo puid

Lage Shsle Hlgil !5 58 Jodo pgial -]
5uall3 s ML Y

oleadl Al po galt OLud ¥ (Sle Hlaly -0
cpudad Hlga Hgus daeal!
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24- Give one example for each of the 1iye JST ¥ Lie 4830 -V
following: i gad | B pead Al gl Andsl |
a. Light short waves iy Ol
b. Marine mammals

v
25- Study the given figure and answer the | ge cai @@ ILI JSEN (uysl Yo
Wi i ] ale®

following:

a. numbers (1) and (2) represent......... l S(1) - (1) Leb ey f3le 35

b. Explain how no.(2) is formed? (1) (B UK (ST puid (LA
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26- Based on the given description, identify

the rock type and one use:

a- A fine crystalline igneous rock with

silica content of about 50%.

b- Metamorphic rock under the influence of

high pressure and temperature less than

200° C.

1398 Aal) gl IS 4 =Y
A;\UM‘M“,.LGQJAJ.
LA I | g Lol il
@)}Lﬁd|@__§j:g§)u)&.‘.¢:§'3‘|
ke A Jual ISty
dasal) A5 Comd Jgmie yimws Lol
Agstehays Yoo (pe JET55 g

v
27- Compare between: 1 (LB - YV
Hematite and Pyrite P (4o STy ol
(Concerning : Colour - Streak) Svadly gLt
Hematite  coslegt Pyrite <o,

colour

U1

streak

Ul
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28-

Answer one the following (A) or (B):

Write the scientific term:

(A) Animals were killed in millions by
the first settlers in America.

(B) When the grass growth rate is more
than animals consumption rate to this
grass.

13 () 9F (1) ot 3uad | | p2n ) - YA
role JIA elall mllaaal LS|
o J51g ¥ {1 9o giuel | Lglid il g
O koIl 15 o
ST Lt gt Jae 55 Lentie —o
oug) Olilguotl IMGiw! Juae o
oLt

v

29- Choose the correct answer:

. 4

® 06

Residual soil is characterized by all the
following except.......

presence of rounded angled pebbles..

it is formed in its place.

characterized by gradually texture
grain size.

being very similar the original rock

30- Justify the following:

There is pronounced differences in the
earth’s topography particularly on the
edges of large continents.

1Jadd dovowall dala | 5 -Y4

b Lo S5 Al g8 oy 8 5

@
s possn (Q)
e @)

O,

oY yiall pe i

xébw&c-\"

rlow pulal 8 puS AMIS! w90
§5 SIS HLET ) (Bl g e dolsn o,
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31- What are the results of?

e A ylalt AL Lo =¥

The occurrence of tight folding and e b g e o GIS 5 Grgu

intensive faulting on the Earth’s crust.

§ilein )N 3, 8B| ygdmin LB

b 4

32- Write the mineral name of the following: | : 5 tal Lle JIut Giaa @l ,S31 =YY
a. Silicate mineral has glassy luster and | ¢>l23 G20 41y SISt (0 Gunas -

has no cleavage.

(Rl ¥y

b. A mineral used in cement industry and | Ske«¥! delie 8 pasiug fase o

has rhombohedral cleavage.

.((S’:A..QM ?L«Aﬂ.’ﬂ ‘Uﬁ
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33- Study the given figure and answer the
following:

O el @ STLN JSEN uyal -YY
s G At

a. What is the type of structure no. (1)? $95 Lal e (1) oS 5401 £33 Lo + ¥

Give reasons for your answer.

b. What is the type of structure no. (2)? | oSe Sy 8(¥) cuS50 g55 Lo sLsls

Justify your answer. Sade J¥LGu)
A 4
34- What is meant by: 13 dguadal! Lo -VE
Stability of ecosystem. S gt oSN plaL 1l
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35- Write briefly on the following: 138 B pualine UG LUS) VO
Differential erosion by wind. 2L a5y (paliied| Cumid
) 4
36- Answer one the following (A) or (B): 13 (20) 9 (1) ontd3uadt i y330 -3
Differentiate between: 1o (302
(A) Marble & Mica schist (concerning: i (30) ISl Ceundill pls 01
texture - original rock) (o1 il - et
(B) Gabbro & granite (concerning: type | gsi «cus (po ) cedlramtly gmladt -0
of rock — ratio of silica) (Sl | Aoy =y g3acal
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37- Answer one the following (A) or (B):

What would happen if ........

(A) An area affected by periods of sea
regression (the seas on land) and sea
transgression (seas away of land)

(B) Revolving of molten iron and nickel
around the rocky solid inner core.

103 (@) 91 (1) ol 1 auadt i p25nf - VY
e Sdong 131
dnx )iy pond! pudly Le dalaie 505 -
Sowld!t e
Jo> JSdly auadl Hsgas Olhgs —w
Sciall s 13l et

b 4

38-

Choose the correct answer:
From the zooplanktons characterized by
daily migration.

(@) Red algae

@ Larvae

(©) Mollusca

(@ Roaming crustaceans

wwyjailledg o

1dadd Aovonall Aol Wyl -YA
Lonti L) ABBA Ayt SLSISI) (o
......... A0 9013 pomgl (1
s et | L lndalt @
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39- Justify the following: il Let Je -¥4
Formation of dry delta in some places. Saboliall yan B Zaloadl AN ()53

A 4
40- What would happen if ...... 1 ole A ylal) gl Lo - ¢
Sandstone rock is subjected to high Ale 33yt e, d) piviall o pal
temperature due to the contact with § pugiad| pa e ST Ay
magma.
h 4
41- Write the scientific term: 1ole JIA elal mllaqal| CGS) - )
A texture characterized by large crystals |, s ity e 0550 o gus
surrounded by small one which have ol Slyals (e syl dawy ond |

almost the same mineral composition. eaal) CaS A pudh (po Lo
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42- What is meant by stalactites?

Sdaaiggl! : = dguadall Lo =€ ¥

. 4

43- Answer one the following (A) or (B):
Compare between:
(A) Tectonic earthquakes & Volcanic

earthquakes
(B) Sial & Sima

103 () 91 (1) o gt i 5 - £ ¥

1 1B
SIS 1 I3 g B0 S JHY -
Loty Jlwdl -0
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44- Study the given figure and answer the | Elalel UM JSEIN (pupst - & &
following: ' s I A e el @

b- What is the type of structure (B) ' §(B) cus it Le s Lols
and what type of forces which is | e A gt 55l £ o ga Lay

responsible for its formation? . § o oG
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45- “Water resources in Egypt are
considered the most important factor
of the ecosystem”

Explain the governmental efforts to
combat pollution of the Nile.

ol (o jas B Wriladl 3 lgal piiady - €0
A Ba glaia | yuolic

A gl dgg g ELID g 9o B
LS g Cagls AnBISed
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